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" “Select the following qu
:: ?’”"fllzltemative and answgerqlt Strg i Byoper ) :?rllatta: vt:il:hpame:n:ial Oi;!’dl'ogflniselec‘::;f:lh;
1) Which of the following cell is dlfferent in terms d 5 - K- ’t\"o-un 01} o‘sg I') s
‘ < of principle 2 [March 2022]
I (A) Storage cell (B) Electrol ytic cell (A) 0 059 V. (B) 0. 59V (C)0.0059V (D) 59V
: (C) Fuel cell .« (D) Leclanche cell 10) How much electncity in terms of Faraday is
y| 2 piapdard elecltr2°30 potential of three metals x, required to reduce 2 mol of MnOF to Mn®* ?
Ry &= ‘ofp;?i:caurneg agent :fo usu‘;:?:ejlg ke 'order thoy] JESNGE St D g ', [March-2022)
j (A) y 4 2> d = are (A) 5 al (B) 10 (C)3 w 21(D) 6 :
y>x > z s 11) On Whlch of ‘the followmg factors, electronic
“©z>x>y JOIZ > Vi 20 S conductance does not depend 2 - [March-2022]
§ ) Gy Ar(g) CO, ), HCHO& and CH (A) The nature and structure of metal. ’
.|~ are 40.39, 1.67,-1.83 'k 10-5 and’ 0.415
| respectively. Arrange these gases in the order (B ihe n@ber FirRliog Clgetrons per -
“<"of their i increasing solubility. (C) Temperature "~ (D)Pressure = ' ‘-
3 (&) HCHO < CH, < CO, < Ar ~ | 12) Wnhat is the unit of rate constant of the second
| (B) HCHO < CO2 < CH, < Ar i 7| shuir order reaction ® 114 cT0il [March-2022]'
; (C) Ar < CO, < CH, < HCHO' .~ Sl A) Mol Ll &1’ (B) Mol‘l Lsi
(D) Ar < CH, < CO, < HCHO 1.7 1R (C) S' (D) Mol—z L+2 S-l )

ALY vd stsoxnsd joubaf ;;'-_‘_

4) The relative lowenng of the vapour pressure of | - ’ 1
an ageous solution containing a non-volatile | 13) What is the slope of graph of lnk - =
iss:)lute §s‘ ?.0125. The molality ?f the splutlon Pry s T [March-2022]

........ B f1aMg N
(A) 0.70 . (B)0.50  (C)0.60  (D)0.80 @ -, s %03?; ;
5 What will be the molality of 10 % w/w aqueous A e _2 B Rk
¢ . solution of NaOH 2 (Mol mass of NaOH = (© o Yenseton (D) E—‘ S
Mgl ) PMachi2%2211} 1 &) (Rosiachirplimios £ lectroi g
() 278m (B) 25m (C) 2:67m (D)2.05m es SO utmn ofe ys1s of concen&ated
NaCl solution i IS .

6) , ,What will be the boiling point of 1 m urea solution b e -5 d (D)

;: 3 _m Kelvin 2 (Kb 0.52 K kg mol™}) [March- -2022] (A) Do not change colour of red or blue litmus
() 373.67 (B) 10052 (C) 37835 (D)105.2 hotuuies BERSTvollor oifi R jes

D Wh1ch mixture shows positive dev1at10n from (B) It converts blue lnmus to red g1k

" "Raoulf’s law 2 00 [March-2022] (C) It remains colourless with phenolphtheleine.

“U(A) Ethanol + Acetone (D) It converts red litmus to blue.’
" /
(B) Phenol + Aniline ¥ 15) In any reaction rate of reactant is double when
(C) Chloroform + Acetone [ .1 concentration ‘of reactant is increase in 4

times, If concentration of reactant is increase
in9 timgs than calculate rate of reactant.

(.0(A) 9 times ;. o, 1 (B) 27 times
(C) 3 times .} ‘. /; (D)4 times . . &)

', (D) Nitric acid. + Water _; dotdW (28

8) -1 Under identical conditions, whlch solution has
highest osmotic pressure ¥ [March -2022]
(A) 1 M NaCl (B) lM BaCl2

©) 1M FeCl3 (D) IM Glucose \
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16)

q: seconds after initation of the reaction. The half

" @) 341s (B)44ls (C)541s
17) -

18)

19)

20)

21)

22)

23)

24)

¢ it highest magnetic moment ?

25)

" Arrhenius equation : K =A-e

" (A) log K versus

"<. ! . 1
(C) log K versus T
" (A) 6 .

. (B) Potassium tetracyano nickelate(III)

(&) MnSO, . ot B) NiNO,) -

“(C) CiCl; ' (D)FeSO, + * °

Which is transition element ? [March-2022]
(A) Zn i B)Cd (C)Hg (D) Cu

Std.-12 : Chemistry - Rumap |

_ The rate of a first-

S1EL]
L-! s-1 at 10 seconds and 0.03 mol L 1g-1 at 20

life period of the reaction is....
_(D)24.1s
ph the value of

obtained from
-Eo/RT

With the help of which gra
Arrhenius constant can be

Pl |
B) K versusr Tog T

log T

i  § &

| 18] ] il i3 ¥
© (D)Kversus T

What is the number of ions separated from
aqueous solution of [Co(NH3)6]C13 ?

(B) 4 )3 (D) 2
IUPAC name of K,[Ni(CN),] complex....

(A) Potassium tetracyano nickelate(II)

(C) Potassium tetracyano nickel(II)

(D) Potassium tetracyano nickel(IIl) - :

How many alcohols with a molecular formula

C,H,,0 are chiral in nature ?

@A) 1 (B)2 )3 (D) 4

Reduction of ethyl benzoate by LiAlH, gives...

(A) Phenyl Ethanol + Methanol

(B) Phenyl Ethanol + Ethanol

(C) Phenyl Methanol + Ethanol

(D) Phenyl Methanol + Methanol

IUPAC name of pthelaldehyde is....

(A) Cyclohexane-1, 2-dicarbaldehyde

(B) Benzene-1, 2-dicarbaldehyde

(C) Benzene-1 2-methenal

(D) Benzene-1, 2-dienal

YVhich ionic pair from the following is coloured

In aqueous solution ? ) H '
“(A) Sc3+, Ti I (B) Sc3*, Co2+

(C) Ni?*, Cu*" (D) Ni2+, Ti3+ |
“Which of the following compound has the
[March-2022)

27)

() 2 and 4 B)3 and 4 (C)3 and 6 (D) 1 ang

26)

“'" (D) Geometrical and optical both ' 519

29)

1|26) Colour of K;MnO, I8 ege: . [March_\mzz]
order reaction is 0.04 mo & T yol il ‘

1%

30)

31)

32)

33)

34)

. DDT? [March-2022
(A) 29,6  (B)27,6 (C)28,5 (D)27,5 |
Reduction of which cbmpound gives 2°‘a;l'¢9h°l‘!
[March-2022
(A) Acetaldehyde (B) Acetic acid =
(C) Acetone (D) Ethyl acetate

35)

~ How many sigma and pi-bonds are present it

“(A) Arylhalide (B) Vinylic 1> 17
(Cperagts @)Alglic
Which of the following is the Wurtz-fittig
reaction ?

(A) violet :
What is the primary and secondary valengy .
the metal in a complex [Co(C;0,),(H,0), 11

R

[PtCl,(en),] possesé Which type of,i.s.Ome?ism‘ |
[March'2022]
PR _

(A) Ionization i
(C)Optical ' * «

(B) Geometrical

Which is correct relation for iugh’l Spin
complex ? [Marcl}frzozzl |
(A) Ay<P (B)Ag>P (C)A =P (D)A;>p
Which kind of halide is the following .. X _
compound ? [March-2022] .

Naindryether . = .

x4

(A) C,H;Cl+C,HsCl

(B). C,H,Cl+ CgH,Cl —Naindryether |~

(C) CeHsCl+CyH Cl Naindryether |

A

Naindryether .~ °°

(D) C,HCl+C3H,Cl

How many chiral carbons are in peﬁtan-2. 3»
[March-2022]

4-triol 2

A) 3 (B) 4 ©1 D)2

| ‘Which Product is obtained by oxidation of
* 'Phenol with chromic acid ?

(B) Benzoic acid "

(C) Bep{ggq\ujnqge (D)Aceioph'elio;l[e‘

[Marcl_n-?ﬂZﬂ
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38)

39)

40)

41)

42)

Board’s Question Papers

[P
AT
36) h“:;;:f::ﬂ?:;d::;:rt:hiﬁ ofhtlh:r Z;l}::;? 43) Which of the following is not a polysaccharide ?
(A) Propan-1-ol (B) Butan-1-ol Pacchs20221
(C) 2-Methylpropan-2-ol (D) Butan-2-o] (A) Starch (B) Cellulose
Correct structure of cinnamaldehyde is ...... (©):Glycogen (D) Sucrose
[March-2022] 44) What is chemical name of vitamin By ?
CH=CH-CHO C=C-CHO [March-2022]
(A) (B) (A) Thiamine (B) Riboflavin
(C) Pyridoxine (D) Ascorbic acid
{El-CHly-CHO CH,-CH=CH-CHO 45) Which is bicylic base ? [March-2022]
©) D) A A B)C ©OT D)U
Which has lowest pK, ? [March-2022] 46) Which protein is present in muscles ? .
(A) CH3COOH (B) CgH;,COOH [March-2022]
(C) CcgH5CH,COOH (D) CH,CH,COOH (A) Keratin (B) Myosin
Which of the following gives propanamine (C) Insulin " (D)Albumin
product by Hofmann bromamide reaction ? | 47) Which of the following compound will give
[March-2022] Aldol condensation reaction ?
(A) HCONH, (B) CH;CONH, (A) Trichloro acetaldehyde
(C) CH;CH,CONH, (D) CH,CH,CH,CONH, (B) Acetaldehyde
Hinsberg'’s reagent reacts with which amine ?’ (C) Formaldehyde
: [Mare2022) (D) Trimethyl acetaldehyde
(), CHaNED (B, (CHZ),RH 48) Which of the following reaction is done on
(C) (CHy)3N (D) (4) and (B) both oxidation of acetaldehyde to form methane as
Which reagent is used in Gattermann reaction ? product ?
[March-2022] (A) Tollen's reaction
(2) Cu/ I-llz( 2 $)) ;uz[)-({zlll_:((:l (B) Aldol condensation
(C) CHCIl, + Nal n-Hg . TN
Wit i the o prodctof e reacton T | e
NH, o OES2 ch 49) Reaction be.tween benzal(.iehyde and
———3——>st04' 288 K S acetophenone in presence of dilute NaOH is
; known as....
X | NH, NH (A) Cross cannizzaro’s reaction
NO, : (B) Cross aldol condensation
A) © ®) © (C) Aldol condensation
. NO, ' (D) Cannizzaro's reaction
NH, NO, 50) How many isomers of amine compounds are

(0)) (D)

possible for molecular formula C,H,,N ?
(A) 8 ®7 ©4 D2
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